Order of Operations

[Answer 1D # 0388953)
Simplify.

1. (512 +8) x3606- (55-2) +5x43

2. (9143) + (192-2x26) -25+17x20
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Whole-Number Computation — Mental, Electronic, and Written 71

SELF-TEST

Multiple Choice:
1. Which of the following computations can be simplified using distributivity?
a. 34(17 + 83) b. 20(5x 163) c. 17+(13+42) d. 27x7 +27x3
2. Which of the following illustrates the left-to-right addition method for finding 35 + 417

a, 30+40+5+ 1 b, 30+5+40+1
c. 5+1+30+40 d. None of a, b, or ¢.

3. Which of the following are equal?

{i 3ngm+ m%gm (1) 354, 152d8m {iif) 32#}“):: Eu]ht
a. iandfi b. iand ii c. iiandii d. Noneofa, b, orc.
Short Answer:

4. Show how to estimate the following sum in two different ways.

B840 + 673 + 713 + 702 + 645

5. What multiplication problem is represented by the
given arrangement of pieces and the rectangular
array approach? Explain how the arrangement of
these pieces relates to the partial products in the
intermediate algorithm for multiplication.

6. You are sent to the donut shop with $5.00 to buy 5 dozen donuts for the office staff. You
notice that the price is listed as $1.20 per dozen, but that a special is advertised for $.25
off each dozen when you buy 5 dozen or more. Will you be able to buy 5 dozen of the
donuts? How much will you pay the salesclerk? Discuss when an estimate would be
appropriate in this scenaro and when an exact calculation is necessary.
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7. Find the indicated product by completing the
lattice to the right.

What factors were multiplied?

8. Explain how you would find the remainder for 6,289,214 divided by 92,365ona
caleulator.



72 Chapter 4

Application/Problem Solving:

9. a. Given below is a sample of a student's paper Find the error pattern the student is
using and complete the last two items using the same error pattern.

1‘119 ﬂﬁ? 2% 372 486
- 26 =23 -39 =48 =12
1413 2112 217

b. What instructional procedures might you use to help the student with this problem?

10. Instead of dividing by 24 in the problem shown below, a sixth grader decldes it would be
easier to divide by 4 and then divide that result by 6.

3 9 4 r3
24Y1 § 1 9 4 )1 5 7 9 6 J3 9 4
1 2 1 6
3 7 3 4
3 6 i_0
1 9 4
16
3

Does this process give you the correct quotient? the correct remainder?

b. The divisor 24 can also be written as 3 x 8, What results do you get using these
numbers?

Explain what is happening in this process. How can you obtain the correct results?

lf /8 Compute the following without using your abacus:
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